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41 % 30 o1 F A Torfed faad wwor sy ste we | Sifes w s #
Name the property of gases that helps aquatic plants and animals to survive in
water 7

I % 39 =H T 91 fafEd ww woies = g e

MName the site where proteins are synthesized in a cell ?

A/ U s A TS 2eqam § kg © @R 3@ fie B foasn 729mm 20 kg & 2F1 #1 @
Ty weE fom o B o 9 fEm i o wew ofue €7 @R I 9 e wh
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An object A of mass 8 kg and an object B of mass 20 kg are to be pushed

simultanecusly. Which of the two has greater inertia ? Give reason for your
aAnswer,

A O wF F veEt AW fated | uE T AW w1 gfie st

Write the chemical name of dry ice. Justify its name. ..

qu iR FIE A1 1 & TOEe we o 81 = v § ufifin waee ot ufshm

HIETH i GgEH HIA | wa t

\ Both smoke and fog are called as Aerosols. Identify the dispersed phase and E ) '~ O
dispersing medium in each of them . tay

_2( e it Ty ¥ faies e vas 9 v v fafed
Distinguish between tendon and ligament. Write one characteristic of each.
TEERY w1 GE s an faied | T oW SweqEs e Hi T 3 afteed
fafad |
State the universal law of gravitation. Mention two phenomenon which are
fxplained by it.
§/ i fe R SR S € e Fif ) 8 st w6 ww e 2wl
Frie fad wed 7
Explain how compost is made. What makes it a good manure 7?7 What is
vermicompost 7
5 A9 W & Tiedk el T SR A ¥, 3! a5 | S0 M SOP
ist three ways by which an insect pest attack the plants ? 5‘-’& \ Yot Sy
bor <™

e 31 5999 § B a9 T eran
Write any three differences between Evaporation and BDiIing.
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A mixture containing two liquids A and B which differ in their boiling points by
20 k. Suggest a suitable process to separate them. Draw a neat labelled diagram
to explain this process.

TRt ifire 1 s oegd o1 SHE ST ) AT R |

Draw and label the parts of prokaryotic cell.

}31 TI-TEHT FAF & o WEhE] ] S Fifag |

Explain three functions of parenchyma tissues.

A.

* FagEl w1 M foad | woE @ T T et |

Name the constituents of xylem. Write one function of each of them.

(i) T % 91 9% Wl T
(i) . THEEIEE
(i) EEAE
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diven below are few speed - time graphs for motion of objects moving along a
straight line. Which of these graphs represent the motion of the body whose
speed is:

(i}
(ii)
(i}

(ms™?)

L

I‘_

increasing with time
uniform

non-uniform

— time 8] t

\,IJI.

— time (s) ¢
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An object of mass 100 kg is accelerated uniformly with a velocity of 5 ms? to 8ms! in

6 sec. Calculate the initial and final momentum of the object. Also find the magnitude of
force exerted on the object.

=qe & Tifa & @l frem i fafy g == = 1 # veen Fraw s Hife)
TRE T mE ¥ A Ane (g ) s w1 R g E e

i Derive first law of motion mathematically from the second law of motion.
l Explain why it is safe to wear safety belts in car ?

——

/19. 50 kg TEHM W1 FE TEH S 60 kg 579 w1 S T TF §EL ¥ WEE 1m g
e & TE O T Sl TEETRYT F6 ] I i |

(G=6.67x10 " Nm’ kg’) .
Calculate the force of gravitation between a boy of mass 50kg and his friend of

mass 60 kg sitting at a distance of 1 m from each other. NM
(G =6.67 107" Nm?® kg¥) = _,-'?";Lf
B o T Y w4 SRR §7 g % e M iR wesl e R & we § eeia e
= ¥ fory =foe Frefim wifsm G "?‘F:;’,
What is meant by acceleration due to gravity ? Derive an expression for A wA
-

acceleration due to gravity in terms of mass M of earth and its radius R. %-’:-

}L/ () TFEF % 3 S 9H 9w G wae Ted aaeed | TS ¥ fog &9 A ’Er; v
’ SATHR 9T Fred] =1 9 foan s @ 59 fafed) A

Gy T 9 e i T o e . U_}__“.':-t
~ (i) Explain the various cropping patterns adopted by rfgrmers. Mention the % &
o5 & basis of selection of crops.
o, ;J & O {{?) Write one advantage of any bwo crop patterns.
i /.
g i Q ;__.s )
20 / o - 37974 / OR =
o U;‘anﬁ’ aE U F fo &1 ol =1 g 9 5 e yen aymEEt ae e & E 6 [\@
y U7, :
#{_b v R em e R 63
~ O/ () e w eE gt T & T s ol v § ves w1 SR see ﬁ_d,.__é@_m
g + fou @ T #1957 9w o fafed 51 W wee wwmA F o 1.5 O
Y 2335
) I T E 2 (3)
() e Y wEd €27 WEs % [UEd & AWET S0 9% S & AW @%%%-%O
et | :
&y List two reasons why beekeeping is a good source of incomes For
farmers. l{:‘JO 1' D‘ D ‘:i

h'"l[-b}l Mame the Italian breed which has been brought to increase honey
production. List its four features that make it suitable for the purpose.
{c}~._ Whatis pasturage. Name the factors on which quality of honey depends.
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(b)
(c)
()

{

(a)

(b)

(c)

A5 T ST R WATTET R g 9t wne fE O et o v
w1 30 fFm vr wwifaa = &

fagt % w2 # = g e F w3 § o ¥ wwmed f T fee wen
A&

List all the factors that affect rate of evaporation. Explain how each
factor affects it.

Water kept in earthen pot becomes cool during summer. Explain how it
so happens.

HeEEr S OR

55 Wi A SFensl ¥ o7 UfiEed %1 W SNE 95Y R e o
ufted= o 9 = wiEar & am fafad |

=1 T = Ffeas S ofefi it .

)  110°C (i}  —20°C

Toret ward =1 ermwen w1 Pyt =0 =0 51 s fatad |

Draw a flow diagram for inconversion of the three states of matter and
indicate the name of process for each interconversion.

Convert the following temperatures to Kelvin scale -

(i) 110°C {ii) —20°C

List the two factors that determine the state of a given substance.

T FERT] S|

= A wgw feafy & fog ag ¥ S o fofed s o w9 F fog oo
TR F

() YRR F w1 o

(i) S0 HEEE TR o

Mention any two differences between physical and chemical changes.

Give one example of each.
List any two properties for each following case of metals which makes

* them suitable to be used as :

(i) utensils for cooking food - {}:_
(id) wires for electrical connections
3197ET / OR

% faead # 330 g 99 H 30 g WaEw wHE €1 39 favee =t wvwan geEe
/ EETIR Wiowa A WA S |

fordl <1 ol 3 T fF oy T © uo o vm = ¥ faw
Freeeiiate amad &t amen atfys oot aeqre BT €1 9% B E
v fofas |

Hgw Taeram =t sfiam Sifsw o v dan f5eam %) faoes 91 uE 920
famn fopm wam a15gs =1 9a €7

Page &



(a) A solution contains 30 g of common salt in 330 g of water. Calculate the
concentration in terms of mass by mass percentage of the solution.

(b}  Give two reasons to explain that crystallization is better technique than
evaporation for obtaining pure substance from its impure sample.
Mention its two applications.

{c) How will you convert a saturated solution into an unsaturated solution

without adding a solvent ?

(a)  UREAF S SR UHEEE =R § Hom g S 9% 6 9N-I99 WE ¥
Frafa-am =1 |HI =0 Fife |

by TFHTERHRSOmFTT TR TME TR FF T 10ms > R |HE
Tl ST o 9% et ¥ fes 3 S Tt ) teE g Yl 9% TEed |
9 4 7 i

(i Derive position-velo
moving with unifo

equation from velocity time graph for a body
velocity and uniform acceleration.
height of 50m, If its velocity increases

e ATE/OR 7
(a)  USHEHH A A UHEEH ©0 H Sl 58 9% & o-9nd W § feafa-weg
T HHeRTUT SA9H ST |
(b) TUF FE 36 kmh ' 9 ol g THEEAN w9 o @=ig S g 10 s §
54 kenh ™ %1 97 WIH T € g 1 URE@TE S
(i) EH&T =T

erive position-time. equation from velocity time graph of a beody
moving withaniform velocity and uniform acceleration.
A car is accelerated uniformly from 36 kmh ™’ to 54 kmh 'in 10 seconds.
Find :
(i) the acceleration and 4 N \Y)

/ (i) o9 AHg-SE H T g0 99 T i

(@) =M wea o P fafed ) s s W wEEEs e e W aSs
= WaE i e € |

(b)  100g FR 200g =AM % o1 fis U & w%o v # %A 2m/s AR Im/s F
7 & e €1 3 3w § ey o § oK geg ¥ 9 ueen 9T 1.67m/s W
& uf = @ ¥ gt e o A 3w S

/wfl State the law of conservation of momentum. Explain on its basis the
recoil of a gun when a bullet is fired.

(b} . Two objects of masses 100g and 200g are moving along the same line and
direction with velocities of 2m/¥and 1m/s, respectively. They collide
and after the collision, the first object moves at a velocity of 1.6Vm/s.
Determine the velocity of second object.
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HEar/ OR
(@) = i gEw Frem fafEd | g it i § w6 w1 s W
HIfT |
(b) mkgmﬁs‘wmcmaﬁa‘ﬁ’rﬁ%ﬁﬁq%tﬁﬁmﬁm%a THEF T F
1 TR w4 Fifen 1 (A = o e T 10 ms-2# 1)

(a) State Newtons second law of motion. From its mathematical formulation
obtain an expression for force,

(b) Calculate the momentum transferred by a stone of mass 10 kg to the tloor
when it falls form a height of 800 m. Its downward acceleration is
10 ms-2,

9T - & / SECTION - B
it weg word ¥ fasis § omEEE F 9 en W OSEE O Ae-Fen € S
formant uftufy $fa v 2= d .
(a) = (b)  TEHE €@ T (d) WEA
Obtaining a blue black colour by adding iodine solution to a food extract
indicates the presence of

}E_ﬂ/ starch (b}  glucose {0 fat (d) protein

=1t 3 ifre A w9 sttty = T 0 3 for S e wam § e S § 6
2

(2)  UEERER by FAHC

(©  WFEH,SO, (d) EFRHNO,

To test the presence of metanil yellow in dal, the chemical used is _

(a) alcohol (b) AilHC

(c) Conc. H,50, (d)  Conc. HNO,

ol 1 FEEIE W w & fn emfrier o e e aiey

(a) I TE | UE S A (b) IR I wedl I g g
(c) YO % 8 % TH | (d) T S HAE % 9 S

To determine the boiling point of water the bulb of the thermometer should
(a)  becompletely dipped in watet#

(b)  just touch the bottom of flask)

{c) be near the mouth of the flask®

{55 be just above the surface of water

it T S 9 F & wam H e A | w Y wet

(a) o e fremn § gt e o e € A °C WO e 2

(b) &R AHF —1°C e fia € of 3w fer wwm e

(©) e mEm 0°C 7 firen # i $ i wk faser et € 7 wg e §

(d) qES A — 1°C 7 e & i fifR TR o A wga 9 € 9= a9 96
i e T =
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30.

In an experiment to determine the melting point of ice, during melting of ice,
which of the following observation is correct.

Lg,}" the temperature remains constant at 0°C till ice and water remain in
mixture,

ib) the temperature first decreases to —1°C and remains constant at this
value.

(c) the temperature decreases at first to 0°C and then starts increasing as
soon as ice starts melting,

(d)  the temperature first decreases to —1°C and then increases. continuously
till the whole ice melts.

wifteam FiRge ok svifam sonEe & faw 91 gus =0 5 gl 3fa e d

(a) I (b) T

(¢ T () wmEEs

To separate a mixture of sodium chloride and ammonium chloride the most
suitable technique used is :

{a) Evaporation /M Sublimation

{c) Filtration (d)  distillation

=R BTl A, B, C 991 D | Fiemgs fawe fun 5% 51 % . e fay e g
T e 1 wefiio % §1 Fromss e fao/ el e e fem £ 3 218

C
(b) A EB
() HEEAD (d) BIRC

Four students A,B,C and D are asked to prepare a colloidal solution. The
following diagrams show the preparation done by them. Correct preparation of
colloidal solution has been done by :

Mills
(b) Aand B
(df BandC
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A &l T ¥ fam Ty S SeREe & T % fog e | S w5 a9
g

(@) < & femit E

() =M T

() o i e e gwit & el st wewns femi €1

(d) i s e i fam i ¥ oft st sewEe wEi )

Which of the following properties of iron and sulphur mixture and iron sulphlde

rrect ?
S@D Both are heterogeneous

(b} Both are homogmem?/ P '
(e} Mixture of iron and’ sulphur is homogeneous and ironsulpl"udi}/ .
heterogeneous
Iron sulphide is homogeneous and mixture of iron and sulphur is
heterogeneous.
;ﬁ\ i &1 wemai® o & SulEar =0 R S 8 50 Bl S AR
(a) EEEEE (b) A 2 MRS
()  TERTH AEES (d) TEEEHA TEFES
: The gas formed when Zinc react with Sulphuric acid is :
' {a) Hydrogen (b) Ca:bon—di-oxicff
! (cj Sulphur dioxiglf {d) Hydrogen as sulphide
:’, A5 3 e % fago F TuE w e ©
/@ m B T YR (@ T

| I In a mixture of iron and sulphur, the colour of sulphur is :
|

/é} Brown &) Balek (¢ Grey (d)  yellow

! -l _ NS~ T o T
——7 34.] Tge A HIR Gethe & fawa 1 S8 F G S H e 4 52 918 6 deor e s w gt
i Tl O W U8 WE T 2, °9% .

(a)  YE R FER () 7 R FwE

()  wmE-d d) ot ain TweER

Rahul placed an iron strip in copper sulphate solution and after above four hours he
observed that the coating deposited on the iron strip is -

‘ (a) A grey and hard A soft and black

'_ S o }Q‘ A reddish brown ( A smooth and shiny
ore F1 et =1 S e EE e

| a} (b)

B O o=
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Correct diagram of cells of onion peel is -

36, ot qerd o1 st STREY 9§ {9 o v R e
(a) iR o WP = fafre e & T
(b) TRITYTER] Thi 96 i o To1d |
() i 1 oREiiE 9 & fag)
(d) =iy H a3 9= % Ty

While preparing temporary mount of substance straining is carried out to
(a) highlight cell components

)] clean cells
(<) increase transparency of cells
(d} prevent drying up of cells

[, (ay wifeEn i (b) FE A
€  FE=a o (&) e faeed
cheek cells are covered by -

(a) Cell wall

(b) Cytoplasm

(c) MNuclear membrane
f{d} Plasma membrane

3}1 e FaE T A e S T eRET A e
j :

{a)  HIEFEA (b  UEEE

(c)  EREEEE (dy  FmEEm

A plant tissue having thick walled similar cells is :

(a) Collenchyma Parenchyma
{c) Sclerencyma Kylem

39, oo SO B WES F UE w0 5 9% UF 9 9 sae T S 39 9 A
sifa & o we T e S ofR wifvre oo B B IEH 3 e e v
T

te) () SR (© & (d) R FE
"After observing the slide of nerve tissue a student was asked to draw its diagram
and mark the part which has nucleus and cytoplasm. He identified it as -

(a) - Axon (b) Dentrites (c) Cyton (d)  cell body
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40. aft frefgel =1 e ar ) @ & ofim el & 9w oy @ W@ T 3
HEFITaa oo I Giavadl F e S gF

(a) A= ¥ om0 (B) Y;X

i =2 i g = =

= 100

x 100

If "X is the initial weight of raisins and Y’ is the weight of soaked raisins, then
the percentage of water absorbed by raisins is given by -

X=X 100 (b) Y- X o 100

= %=

X 100 (d) x 100

Q41.

In the figure below if spring balance *A’ applies force of 5N in one direction. What will be the

reading on spring balance ‘B’.

a) Moye than SN

bl 3N in same direction
Fj’ 5N in opposite direction
d) Less than 5N

Ty
|
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Q42. hile performing the experiment on Newton’s third law of motion action and reaction forces
o not cancel each other, because

a) They act in same dircctiﬂ;{[
b}  They act on different objects A
) They act on same object

d)  They are never equal to each {:rthar.\}]
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